L E S F0 43 L B




Bl ey gt




| T T —— m - mencjy

MIRST ERERIESL

SR L

0143 0144 0152 0145 0158 0117 0155 0164 0167 0168 0163 0169
BSPP BSPT/BSPP  BSPT BSPP BSPT/BSPP  BSPP BSPP NPT/BSPP  BSPT/NPT  BSPP BSPT/BSPP  BSPP
-7 TURB9-7 TTA39-7 FIRB9-7 FURBO-7 TAB9-8 FUAB9-8 FUAB9-8 T1A39-8 FIF39-9 FF39-9 F1F89-9

&9 ga g Yoo © = 9 ¢ 9 @

0121 0121 0929 0123 0136

NPT/BSPT BSPT BSPT BSPT BSPT
T1859-9 T1%89-9 T1%59-10 T1%39-10 T1R59-11

S W ™ S &

AR

0912 0921 0913 0922 0914 0910 0911 0915 0923 0916 0924 0917
BSPP/2M 4] 2 BSPT/BSPP 44l BSPT BSPP BSPT/BSPP  BSPP/AH] M BSPT/BSPP 44 BSPT/BSPP
TURBO-11  TTE9-11 FTA39-11 FTRB9-11 FURBO-11 FUA39-12 F1A39-12 F1A39-12 F1A39-12 TAB9-12 TA39-13 TTAB9-14

YN . T W . TN R Y.

0927 0928 0932 0908 0909 0903 0904 0905 0906 0907 0920 0900

BSPT BSPT/BSPP  BSPT/BSPP  BSPP BSPT/BSPP  BSPP BSPT/BSPP  BSPP/2 i BSPP/2 i BSPP BSPP/2 il BSPT
T1459-13 TH59-13 T1%59-13 T1459-14 T1459-14 T1f59-14 T1f59-14 T1%59-14 T1%59-15 T1%39-15 T1%39-15 T1f89-17

PP Pe o ¥ 9 v &

0901 0192 0902 0191 0931

BSPP/2A#l] BSPT/BSPP  BSPP/ZAil BSPP BSPP
T1%59-16 T%59-16 T1%59-16 T1%59-16 T1859-17

¥ Y W SN

SRR L

1844 1843 1845 1817 1871 1855 1870 1862 1864 1867 1863 1872
BSPT/BSPP BSPP BSPP BSPP NPT BSPP NPT BSPP NPT/BSPP  BSPT/NPT  BSPT/BSPP NPT
TASO-18  FUAIO-18  MABO-18  FUASO-18  MABO-18  FASO-19  FABO-19  FUAGO-19  FABO-19  TUAGO-19  RAB9-20  DNASO-20

N &9 & ¥ 9 88§ 9w e«

1861 1873 1821 1821 1823 1823

BSPT/BSPP NPT BSPT NPT BSPT NPT
T1%99-20 T1%59-20 T1%59-20 T1%599-21 T1%599-21 T1%599-21

W 2 s

9-4 Bllegris

| o |




| T T

0135 3310 3311 3312 3313 3301
BSPP#ME  WlkiEiEsk  BSPP/A4]  BSPP/A%|  BSPP i
TUR9-22  TURE9-23 FTAB9-23 TURE9-23 TUR89-23 TURB9-24

L e

——

MARFTEHISTECRE . LA

3302 3303 3303
B.WM=  HA i
F1F39-24 F1A39-25 F1A39-25

w B=§

0205 0205 0209 0220 0200 0201
BSPT NPT BSPT BSPP/A#I  BSPP/2#|  BSPP/ZH
FIABO-26  TTAB9-26 F1#39-26 1%9-26 165926 T1RB9-27

0919
BSPP/A ]
15928

0206 0206 0210 0216 0216
BSPT NPT BSPP/2]  BSPT NPT
FUABO-29  FTAB9-29 FUA39-29 T1A39-29 F1AB9-29

0285 0285
BSPT NPT
TIABO-30  TFTAB9-30

0138

T1%59-31

o@® o &

0137
F1F39-31

0605

T1%59-32

0602

T1%59-32

0139
FTAB9-32

0202
24
FURB9-27

0127 1827
) BN
FIABO-33  FTABO-33

J 7

Blegris 95




ik,

| T

——

1% S F0 4y fie

RS R A AR M T 5 B IR SR A FlE Sk R A /Y

mARPRERET—F

it

HURL . | AESAssE kB ER S RERNRRTE, MiEFE
RARE | sMeyRAmmREE. 8. FHER. N, TER. 8
RS REAE.: RIS ARSI

FF g I B B R 454N
BSPP. BSPT. NPTFAZ#4&E 4L
HEEHE  MREE

ERfFH

TI{EER

TiERE

9-6 Hllegris

BERERISE, BURTEEMMR
REME, SEULHIMSEE

ST K

#iR R TEEN316L
1/8"Z1/2": 200 bar 1/8"Z1/2": 200 bar
3/4"#A1": 150 bar 60 bar 3/4"#A1": 150 bar
1%"Z2": 100 bar, 1%"Z2": 100 bar,
R B T EHRE
-40°CE+150°C
R EHRE

-10°CE+80°C -20°CE+180°C
-20°CZE+80°C
R

m - mnssll

o ZERFE

, BETIEEMEMERMERE XS NA

r-T

IR E
MEA 3
231
SHEE E
EEE O
|mMmnT
5 BL EE
BN PRTRE 1L R
1/8"Z1/2"; 200 bar
3/4"F11": 150 bar
1% 2", 100bar, 0P
ST
10°CE+80C -10°CE+80°C




il _EeEE —— (. [T |

SO E S

0143 ERBYHEAESL, BSPTREY

w4 c & E G J L kg
G1/8 01431010 75 165 12 225 0.044
G1/4 01431313 11 185 15 265 0.055
G3/8 01431717 115 235 19 315 0.100
G1/2 01432121 15 28 23 345 0.150
G3/4 0143 27 27 16.5 34 27 435 0.242

0144 BHfaiEs, BSPTMEL/ BSPPRZLL

w4 c1 c2 & E G H J L kg
R1/8 G1/8 01441010 75 165 23 12 225 0.036
R1/4  G1/4 01441313 11 185 26 15 265 0.054
R3/8 G3/8 01441717 115 235 30 19 315 0.088
R1/2  G1/2 014421 21 15 28 35 283 345 0.140
R3/4  G3/4 0144 27 27 16,5 34 40 27 435 0228
0152 BEfiEsk, BSPTHMEY
w4 c & H J L kg
R1/8 01521010 195 10 195 0.017
R1/4 01521313 25 15 25 0.045
R3/8 01521717 265 15 26.5 0.055
R1/2 015221 21 315 19 315 0.088
R3/4 0152 27 27 355 23 355 0.1583
0145 TEESL, BSPPHIEY
®A c & E G H J L2 kg
G1/8 01451010 75 165 225 12 225 0.056
G1/4 01451313 11 185 265 15 265 0.083
G3/8 01451717 115 235 31 19 31 0.131
G G1/2 014521 21 15 28 38 23 38 0.242
AL N I G3/4 014527 27 16,5 34 475 27 475 0378

0158 IETAESL, BSPTSMEZL/BSPPRAIZLL

®A c1 c2 & | E G H J L2 kg
R1/8 G1/8 01581010 75 165 215 12 215 0.046
R1/4  G1/4 01581313 M 18.5 26 15 26 0.074
R3/8 G3/8 01581717 115 235 30 19 30 0.120
R1/2  G1/2 0158 21 21 15 28 36 23 36 0.205
R3/4  G3/4 0158 27 27 165 34 44 27 44 0.310

L5 B EE

Bllegris 97




HEIREEESS

0117 FIRA L, BSPPHIAHIAIELL
- K
A c @ F A K L L1 oT ke
M5x0.8 01170019 14 14 7 105 35105 0012
G1/8 01170010 19 22 9 14 4 165 0033
G1/4 01170013 24 27 15 21 4 205 0057
G3/8 01170017 30 32 14 21 5 265 009
o7 G1/2 01170021 32 36 20 27 6 285 0116
G3/4 0117 0027 41 41 22530 6 345 0.161
o o a1 0117 00 34 46 50 245 34 8 425 0.266
A F G11/4 0117 00 42 55 55 29539 8 495 0209
G112 0117 00 49 60 60 29539 8 545 0303
0155 ¥k, BSPPRELL
®A c & F L kg
L G1/8 01551010 1417 0014
I G1/4 01551313 17 24 0026
) ! G3/8 01551717 22 25 0.046
]c G1/2 01552121 27 32 0.084
=== G3/4 015527 27 32 35 0109
OF
0164 #4E3, NPTSM BSPPRIZLL
w4 c1  ©2 & E F L kg
L NPT1/8 G1/8 01641110 75 14 20 0015
.‘—'i NPT1/4 G1/4 01641413 1117 275 0028
! NPT3/8 G3/8 01641817 15 22 285 0044
I a NPT1/2 G1/2 01642221 15 27 365 0082
—— NPT3/4 G3/4 01642827 165 32 385 0.110
c1,/0OF E |
0167 #3ES, BSPTSMELU/NPTRIZLL
w5 c1 c2 & F L kg
R1/8 NPT1/8 01671011 14 21 0016
_ é.‘ R1/4 NPT1/4 01671314 17 285 0029
m_‘ % ‘ — 1 R3/8 NPT3/8 01671718 22 295 0.047
& y 1 ]cz R1/2  NPT1/2 01672122 27 375 0088
-7 =4 R34 NPT3/4 01672728 32 395 0.120
4 ./
c16r
0168 K /MEL, BSPPHMEL/BSPPFIL I IZLL
w4, TEER cit c2 H E F H kg
G1/8 M5x0.8 01681019 7 14 6 0009
o1 M08 01681319 7 17 7 0017
GI/8 01681310 7 17 7 001
G1/8 01681710 9 19 6 0019
€2 G G4 otes1713 9 19 6 0013
s B .
M OF GI/8 01682110 24 10 0050
% Gi/2 G1/4 01682113 T 24 10 0041
E Sl G3/8 01682117 11 24 10 0029
Gl/4 01682713 1 32 12 0098
G3/4 G3/8 01682717 T 32 12 0083
Gi/2 01682721 132 12 0083
B B E

9-8 Bllegris




OISR ESS

0163 K /NESL, BSPTHMEL/BSPPRZELL

w4 c1 c2 & | F L kg
R1/4 G1/8 01631310 14 16 0.009
L R3/8 G1/8 01631710 17 165 0.020
= _r G1/4 01631713 17 165 0.012
G1/8 01632110 22 21 0.048
Qf R1/2 G1/4 01632113 22 21 0.038
G3/8 01632117 22 21 0.024
J G1/4 01632713 27 24 0.084
C1 Tﬂ R3/4 G3/8 01632717 27 24 0.069
G1/2 0163 27 21 27 24 0.046
0169 INEEKHESL, BSPP4MAIELL
W, TREH ct c2 (A E1 E2 F L kg
G1/8 G1/4 01691013 5 11 17 16 0.019
G3/8 01691017 5 14 22 195 0.039
a1/a G3/8 01691317 7 14 22 195 0.041
G1/2 016913 21 7 145 27 205 0.062
3/ G1/2 016917 21 8 145 27 205 0.062
3/8 G3/4 016917 27 8 155 32 22 0.082
G1/2 G3/4 0169 21 27 95 1565 32 225 0.087
HEEE
0121 H4EsL, BSPTHMEY
& c1 c2 & | F L kg
R1/8 R1/8 01211010 7119 0.009
R1/4 R1/8 01211310 14 235 0.017
R1/4 01211313 14 27 0.020
R1/8 01211710 17 24 0.021
R3/8 R1/4 01211713 17 275 0.025
R3/8 01211717 17 28 0.026
R1/8 01212110 22 285 0.042
/ R1/4 01212113 22 32 0.045
R172 R3/8 01212117 22 325 0.045
‘ ‘ R1/2 01212121 22 36 0.052
R1/4 01212713 27 35 0.078
R3/4 R3/8 01212717 27 355 0,078
R1/2 01212721 27 39 0.085
C1 OF|C2 R3/4 0121 27 27 27 40 0.091
R3/8 01213417 36 385 0.127
R1 R1/2 01213421 36 42 0.134
R3/4 0121 34 27 36 43 0.143
R1 01213434 36 46 0.154
R1/2 01214221 46 46,5 0.220
R11/4 R3/4 01214227 46 475 0224
R1 01214234 46 50.5 0.239
R11/4 01214242 46 53 0.230
0121 3%k, NPT/BSPTAMELL
waA c1 c2 & F L ko
NPT1/8 R1/8 01211110 11 19 0.009
‘<—>‘ NPT1/4 R1/4 01211413 1427 0.021
NPT3/8 R3/8 01211817 17 28 0.026
NPT1/2  R1/2 01212221 22 36 0.052
NPT3/4 R3/4 0121 28 27 27 40 0.090

C1 tgcz

Bllegris 9-9

L5 B EE




G ESR

0929 =HREEES, BSPTHMEL
&, THRKR c & F F1 L L1 L2 kg
L R1/8 09290110 15 5 27 9 85 0.017
m =0 rz R1/4 09290113 19 6 335 115 95 0.035
== R3/8 092901 17 22 8 365 13 10 0.054
' R1/2 0929 01 21 27 12 45 155 12 0.088
% % BT ESRAS ARG, FAREMES
RBEMBUAMHEI 2, FHPERE, KT RRERE
wmATEEH: 50bar
T{EiRE: -10°CE+80C
T E
0123 BERE BkEL, BSPTIMEYL
w4 oD ©D1 C & F L L1 OT kg
4 6 R1/8 01230410 10 34 225 33 0.008
6 8 R1/8 01230610 10 34 225 5 0.009
9 R1/8 01230710 10 34 225 5 0.009
7 9 R1/4 01230713 14 385 225 6 0.018
9 R3/8 01230717 17 39 225 6 0.023
12.2 R1/8 01231010 13 34 225 5 0.014
10 12.2 R1/4 01231013 14 385 225 7 0.020
12.2 R3/8 01231017 17 39 225 95 0.023
12 14 R3/8 01231217 17 46 295 11 0.026
15 R1/4 01231313 17 455 295 7 0.026
13 15 R3/8 01231317 17 46 295 11 0.027
15 R1/2 01231321 22 505 295 12 0.045
18.5 R3/8 01231617 19 545 38 11 0.040
16 18.5 R1/2 01231621 22 59 38 14 0.054
18.5 R3/4 01231627 27 62 38 156 0.084
215 R3/8 01231917 22 545 38 11 0.046
19 215 R1/2 01231921 22 59 38 14 0.056
215 R3/4 01231927 27 62 38 18 0.082
25 26.7 R3/4 01232527 27 62 38 18 0.079
27 R1 012325 34 36 65 38 24 0.124
32 345 R1 01233234 36 70 43 24 0.141
0136 R RikiESL, BSPTHMEL
F] oD ©D1 C & F L L1 OT kg
4.3 R1/8 01360610 10 265 15 2 0.007
4 43 R1/4 01360613 14 31 15 2 0.015
4.3 R3/8 01360617 17 315 15 2 0.020
6.4 R1/8 01360810 10 265 15 4 0.007
6 6.4 R1/4 01360813 14 31 15 4 0.015
6.4 R3/8 01360817 17 315 15 4 0.020
<—L1> @D 8.4 R1/4 01361013 14 31 15 6 0.016
‘*” 8 8.4 R3/8 01361017 17 315 15 6 0.020
mm{ ] ! Y 8.4 R1/2 01361021 22 36 15 6 0.039
» 10.7 R1/4 01361213 14 36 20 7 0.018
10 10.7 R3/8 01361217 17 365 20 8 0.023
c @ @D1| @T 10.7 R1/2 01361221 22 41 20 8 0.041
12.7 R1/4 01361413 14 36 20 7 0.019
12 12.7 R3/8 01361417 17 365 20 10 0.023
12.7 R1/2 01361421 22 41 20 10 0.040
12.7 R3/4 01361427 27 44 20 10 0.071
13.7 R3/8 01361617 17 365 20 11 0.023
13 13.7 R1/2 01361621 22 41 20 1 0.041
13.7 R3/4 01361627 27 44 20 1 0.070

9-10 Bllegris




il _EeEE —— (. [T |

R RAR K

0912 Efgigsk, BSPPHIL &I HIELL

FEa c & E G J L kg

M5x0.8 091200 19 4 8 9 11 0006

G1/8 09120010 8 13 10 185 0015

G1/4 09120013 117 12 225 0.028

G3/8 09120017 115 21 15 255 0043

‘ G1/2 091200 21 14 26 19 30  0.073
G3/4 0912 00 27 165 32 22 355 0.143

G1 0912 00 34 18 385 28 405 0.166

Ere c1 c2 & E G H J L kg

M5x0.8 M5x0.8 09210019 4 8 11 9 11 0006

0913 B, BSPTIMEL/BSPPRIZLL

AR c1 c2 & E G H J L kg
R1/8 G1/8 09130010 8 13 17 10 185 0.012
R1/4 G1/4 09130013 i 17 225 12 225 0.026
R3/8 G3/8 09130017 115 21 255 15 255 0.038
R1/2  G1/2 0913 00 21 14 26 30 19 30 0.064
R3/4  G3/4 0913 00 27 165 32 345 22 355 0.098
R1 G1 0913 00 34 18 385 405 28 405 0.000
c & H J L kg
M5x0.8 09220019 i 9 1 0.010
0914 BEfiES, BSPTHMEY
R c & H J L kg
R1/8 09140010 17 10 17 0.012
R1/4 09140013 225 12 225 0.027
R3/8 09140017 255 15 255 0.035
R1/2 091400 21 30 19 30 0.056
R3/4 0914 00 27 345 22 345 0.104
R1 091400 34 405 28 405 0.156

Allegris 9-11

L5 B EE




| T T

TR TR 1k

0910

YIS, BSPPRELL

——

FER c & E F H kg
G1/8 09100010 8 13 12 0.018
G1/4 09100013 1N 17 14 0.033
G3/8 09100017 115 20 16 0.045
G1/2 0910 00 21 14 25 19 0.083
0911 YRS, BSPTSMEL/BSPPRIRLL
Fm c1 C2 (& E F H kg
R1/8 G1/8 09110010 8 13 12 0.022
R1/4  G1/4 09110013 11 17 14 0.038
R3/8 G3/8 09110017 115 20 16 0.050
R1/2  G1/2 0911 00 21 14 25 19 0.103
0915 THIBESL . BSPPHIA$IMER14L
s c & E G H J L/2 kg
M5x0.8 091500 19 4 8 11 9 1 0.010
G1/8 09150010 8 13 185 10 185 0.021
G1/4 09150013 11 17 225 12 225 0.042
G3/8 09150017 115 21 265 15 255 0.062
G1/2 0915 00 21 14 26 30 19 30 0.099
G3/4 0915 00 27 165 32 355 22 355 0.143
G1 0915 00 34 18 385 40 28 40 0.244
0923 ETEEESL, A%/ RIELL
ey c1 c2 & E G H J L2 kg
M5x0.8 M5x0.8 09230019 4 8 11 9 M 0.009
0916 IETEESL, BSPTHMEL/BSPPHAELL
ey c1 c2 (& E G H J L2 kg
R1/8 G1/8 091600 10 8 13 17 10 185 0.019
R1/4  G1/4 09160013 11 17 235 13 225 0.038
R3/8 G3/8 09160017 115 21 255 15 255 0.076
R1/2  G1/2 0916 00 21 14 26 30 19 30 0.091
R3/4  G3/4 0916 00 27 165 32 345 22 355 0.140
R1 G1 0916 00 34 18 385 405 28 405 0.237

9-12 Bllegris




| T T

TR IR Ik

——

(T

0924 BHTRESL, AHISN MR
ey c1 ©2 & E G HHI J L kg
M5x0.8 M5x0.8 09240019 4 g8 11 M 9 M 0.009
0917 BETRIESL, BSPTHMEL/BSPPHAIELL
m c1 c2 & | E G HHI J L kg
R1/8 G1/8 09170010 8 13 17 185 10 185 0.025
R1/4  G1/4 09170013 11 17 225 225 12 225 0.038
R3/8  G3/8 09170017 116 21 265 255 15 265 0.058
R1/2  G1/2 0917 00 21 14 26 30 30 19 30 0.090
R3/4  G3/4 0917 00 27 165 32 345 3565 22 355 0.177
R1 G1 0917 00 34 18 385 405 405 28 405 0.219
0927 TEIES, BSPTHMEL
s c & H J L kg
R1/8 09270010 17 10 34 0018
r—;ﬂ R1/4 09270013 225 12 45 0.032
(////[//[[/[.—l\\\\\\\\\\% R3/8 0927 00 17 255 15 51  0.056
U o ST R1/2 0927 00 21 30 19 60 0.094
R3/4 0927 00 27 345 22 69 0.133
R1 0927 00 34 405 28 81 0.217
0928 IETEIESL, BSPTSMELY BSPPHIZLL
Ll c1 c2 & E H J L kg
L R1/8 G1/8 0928 00 10 8 34 10 185 0.016
;’/'2 R1/4  G1/4 0928 0013 I 45 12 225 0.044
%5 »ig R3/8 G3/8 09280017 15 51 15 255 0.053
K9] —Tcz R1/2 G1/2 09280021 14 60 19 30 0111
EE‘I {11 R3/4  G3/4 0928 00 27 165 69 22 355 0.236
= R1 G1 0928 00 34 18 81 28 405 0.225
S ==
0932 ETEES, BSPTHMEL/BSPPHAELL
ey c1 c2 & | E HHI J L kg
R1/8 G1/8 09320010 8 17 185 10 17 0.016
R1/4  G1/4 09320013 11 225 225 12 225 0.035
R3/8 G3/8 09320017 115 255 255 15 255 0.055
R1/2  G1/2 0932 00 21 14 30 30 19 30 0.091
R3/4  G3/4 0932 00 27 16.5 345 365 22 345 0.080
R1 G1 0932 00 34 18 405 405 28 405 0.226

HAllegris 9-13

L5 B EE




| T T

TR ERAE ISk

0908 +F RIS, BSPPREEYL
FER c & E G H J kg
G1/8 09080010 8 13 21 10 0038
G1/4 0908 0013 1 17 255 13 0073
G3/8 0908 0017 15 21 28 17 0107
G1/2 0908 00 21 14 26 335 21 0.189
0909 1R, BSPTIMEL/BSPPHIRL
s c1 c2 & | E G H J kg
R1/8 G1/8 09090010 8 13 185 10 0.034
RI/4 GI/4 09090013 1 17 235 13 0068
R38 G3/8 09090017 15 21 26 17 0099
RI/2 GI/2 09090021 14 26 31 21 0168
0903 K INESL, BSPPSMAIRLL
s c1 c2 & E F kg
- GI/4 G1/8 09031013 8 6 0004
i G3/8 G1/4 09031317 9 8 0006
“ ‘ lcz GI/2 G3/8 09031721 0 10 0010
Ay G3/4 G1/2 09032127 4 12 0022
al GI  G3/4 09032734 20 17 0036
(@)
0904 KiL/MESL, BSPTSMEL/BSPPRIELL
s c1 c2 & | F L kg
R4 G1/8 09041013 4 16 0010
L hyg G/ 09041017 17 165 0020
Pty \ Gl/4 09041317 17 165 0015
é o Rijp G4 09041321 22 195 0032
W/fIlIIM' G3/8 09041721 22 195 0025
U
o1/ OFT hyy 038 09041727 27 235 0.057
GI/2 09042127 27 235 0.044
0905 KL NESL, BSPPSMEL/BSPPHILHI R E24L
mEm c1 c2 & | E F L kg
G1/8 M5x0.8 09051910* 6 14 45 0008
E oF GI/4 GI/8  09051013* 8§ 17 5 0011
T cyp _G1/8 09051017 9 19 5 0019
o G1/4 09051317 9 19 5 0013
\\\\\\\ Icz Gy G4 09051321 10 24 55 0032
o G3/8 09051721 10 24 55 0022
»FLF - G3/8 090517 27 1230 55 0053
G1/2  09052127* 230 55 0041

I R IR e SR AT RIRELIE LA RSB AU E 4K

9-14 Bllegris

o




TR R 1k

0906 INEeKHESk, BSPPAIAMHISMEL/BSPPRIELL
m c1  c2 & E1 E2 F L kg
M5x0.8 G1/8 09061019 4 8 14 10 0.009
G1/8 0906 00 10 6 8 14 10 0.011
G1/8 G1/4 09061013 6 11 17 14 0.016
G3/8 0906 1017 6 115 22 145 0.029
G1/4 0906 0013 8 11 17 14 0.020
G1/4 G3/8 09061317 8 115 22 145 0.032
G1/2 0906 13 21 8 15 27 18 0.037
38 G3/8 0906 00 17 9 115 22 145 0.034
G1/2 0906 17 21 9 14 27 18 0.038
G1/2 G1/2 0906 00 21 10 14 27 18 0.054
0907 hnicBEVEEESL . BSPPAIMN NIELL
Eam c & E F L kg
1/8 0907 0010 6 14 16 0.015
E L 0907 0010 01 6 14 36 0.029
a1/a 09070013 8 17 26 0.032
NW[::IEj 09070013 01 8 17 43 0046
CT OFT
0920 FRiESL, BSPPFILAEISM ALELL
K
wan c c H F F1 K L L1 0T ke
Lo M5x0.8 M10x1 09200019 14 14 7 105 35 105 0.012
“—"—r G1/8 M16x1.5 09200010 19 22 9 14 4 165 0.029
G1/4 M20x1.5 09200013 24 27 15 21 4 205 0.056
(;1? jc oT G3/8 M26x1.5 09200017 30 32 14 21 5 265 0.095
I W~ G1/2 M28x1.5 0920 00 21 32 36 20 27 6 285 0.1156
OF1/ |K \ OF
0900 FEMFERES, BSPTIMEY
AR c1 c2 & F L kg
R1/8 090000 10 12195 0.008
R1/8 R1/4 09001013 14 235 0.015
R3/8 09001017 17 24 0.020
- L . R1/4 09000013 14 27 0.017
‘ ‘ R1/4 R3/8 09001317 17 275 0.026
R1/2 0900 13 21 22 305 0.044
R3/8 09000017 17 28 0.026
o/ e R3/8
c1/ OF c2 R1/2 090017 21 22 31 0.046
R1/2 R1/2 0900 00 21 22 335 0044
R3/4 0900 21 27 27 375 0,084
R3/4 R3/4 0900 00 27 27 40 0.079
R1 0900 27 34 34 43 0.144
R1 R1 0900 00 34 34 455 0,153

BAllegris 9-15

L5 B EE




TR IR ISk

0901 tE3EsL | BSPPHILN&i4MiBLy

ey c1 c2 & E E1 F L kg
M5x0. 1001 4 4 11. .002
M5x0.8 5x0.8 09010019 8 5 0.00
L G1/8 09011910 4 6 14 145 0.008
G1/8 09010010 6 6 14 16,5 0.009
E EH G1/8
| G1/4 09011013 6 8 17 19 0.016
G1/a G1/4 09010013 8 8 17 21 0.019
G3/8 09011317 8 9 19 22 0.023
c1/ OF f c2 c3/8 G3/8 09010017 9 9 19 28 0.025
G1/2 090117 21 9 10 24 245 0038
G1/2 G1/2 0901 00 21 10 10 24 255 0.041
0192 #3%., BSPT/BSPP4MELL
R ct c2 (A E F L kg
L R1/8 G1/4 01921013 95 17 235 0.019
‘ E R1/4 G1/4 01921313 95 17 275 0.024
’ G1/2 019213 21 I 27 315 0.068
| mm R3/8 G1/4 01921713 95 17 28 0.025
G1/2 019217 21 1 27 315 0.061
J @E R1/2  G1/2 0192 21 21 I 27 34 0.061
0902 B4k, BSPPHI/A IR
ey c1 c2 & F L kg
M5x0.8 M5x0.8 0902 0019 8 M 0.003
“ G1/8 09021910 14 13 0.009
G1/8 09020010 14 15 0.010
G1/8 G1/4 09021013 17 195 0.017
G3/8 09021017 22 20 0.028
G1/4 09020013 17 22 0.019
G1/4 G3/8 09021317 22 23 0.031
G1/2 0902 13 21 27 27 0.033
638 G3/8 09020017 22 24 0.034
G1/2 090217 21 27 275 0.037
12 G1/2 0902 00 21 27 30 0.050
G3/4 0902 21 27 30 30 0.077
G3/4 G3/4 0902 00 27 30 32 0.080
0191 BEE RS, BSPPIMELL
] ep op1 ¢ 4 E F K L kg
4 6 G1/4 01910413 95 17 5 225 0019
7 9 G1/4 01910713 95 17 5 225 0.022
9 G1/2 019107 21 " 27 7 295 0.065
10 122 G1/4 01911013 95 17 5 225 0.020
12.2 G1/2 01911021 I 27 7 295 0.061
13 152 G1/4 01911313 95 17 5 225 0.022
152 G1/2 01911321 1N 27 7 295 0.058
16 18.5 G1/2 01911621 I 27 7 365 0.067

9-16 Bllegris




TR TR 1k

0931 BEE AkiESk, BSPPIMEL

FaEa oD @D1 C & E F K L kg
6 G1/8 09310610 6 12 4 20 0009

7 G1/4 09310613 8 14 5 20 0013

8 G1/8 09310710 6 12 4 20 0009

7 8 G1/4 09310713 8 14 5 20 0013

o 8 G3/8 09310717 9 19 5 20 0022
E_K L 20 9 G1/8 09310810 6 12 4 20 0.009

| v 8 9 G1/4 09310813 8 14 5 20 0014
:@ 9 G3/8 09310817 9 19 5 20 0022

< g_m 12 Gi/4 09311013 8 14 5 20 0016

c OF 10 12 G3/8 09311017 9 19 5 20 0024
12 G1/2 09311021 10 22 6 22 0031

5 17 G3/8 09311517 9 19 6 24 0030

17 G1/2 09311521 10 22 6 24 0037

18 20 G1/2 09311821 10 22 6 24 0039

HAllegris 9-17

L5 B EE




IEWEEIESL

1844 Efgfksk, BSPT/MEL/BSPPHIRLL
RAFI16L c1 c2 & | E G H J L kg
R1/8 G1/8 18441010 75 15 205 10 225 0.022
R1/4  G1/4 18441313 12185 275 12 265 0.044
R3/8 G3/8 18441717 12 235 28 14 30 0.067
R1/2  G1/2 184421 21 15 28 38 18 38 0.114
R3/4 G3/4 1844 27 27 165 33 41 22 445 0.154
R1 G1 184434 34 19 40 48 32 50 0.312
1843 BEfiES, BSPPRELL
FEEH316L C E E G J L kg
G1/8 18431010 75 175 12 225 0.041
G1/4 18431313 11 185 15 265 0.055
G3/8 18431717 115 235 18 29 0.076
G1/2 184321 21 15 28 23 38 0.159
G3/4 1843 27 27 16.5 33 22 435 0.232
G1 184334 34 19 40 32 52 0.444
1845 THUHESL, BSPPRELL
FERRI16L c & E G H J L/2 kg
G1/8 18451010 75 175 225 12 225 0.060
G1/4 18451313 171 185 265 15 265 0.078
G3/8 18451717 115 235 29 18 29 0.100
G1/2 1845 21 21 15 28 38 23 38 0.221
G3/4 1845 27 27 16.5 33 435 22 435 0.301
G1 184534 34 19 40 50 32 50 0.457
1817 FR gL, BSPPRIZLL
) K oT
Stainless steel 316L C E F F1 max L L1 min kg
G1/8 18170010 19 22 9 14 4 165 0.030
G1/4 18170013 24 27 156 21 4 205 0.053
G3/8 18170017 30 32 14 21 5 265 0.091
G1/2 181700 21 32 36 20 27 6 285 0.109
G3/4 1817 00 27 41 41 225 30 6 345 0.152
G1 1817 00 34 46 50 245 34 8 425 0.252
1871 FHRREESL, NTPRIEY
i K oT
Stainless steel 316L C E F F1 max L L1 min kg
NPT1/8 187100 11 19 22 9 14 5 165 0.032
NPT1/4 18710014 24 22 9 14 5 16.5 0.060
NPT3/8 18710018 30 32 18 23 5 265 0.096
NPT1/2 1871 00 22 32 36 22 29 6 285 0.120

9-18 Bllegris




N

1855 B, BSPPHEEY
FEAEsA316L C E F L kg
G1/8 18551010 14 17 0.013
‘<—L>‘ G1/4 18551313 17 24 0024
(— ) ! G3/8 18551717 22 25 0.042
lc G1/2 1855 21 21 27 32 0.078
- G3/4 1855 27 27 14 35 0.102
t_, G1 185534 34 4140 0202
OF
1870 BHiEL, NPTHIEL
RER316L c & F L kg
NPT1/8 187011 11 14 19 0015
‘é‘ NPT1/4 18701414 17 28 0.029
— 1] NPT3/8 18701818 22 28 0.050
10 NPT1/2 1870 22 22 27 35 0.093
-
tor
1862 KL IMESL, BSPPRRELL
ReEHI16L ci1 c2 F L kg
G1/4 G1/8 18621310 17 205 0.024
‘4;»‘ c3/8 G1/8 18621710 22 21 0.043
(— ).! G1/4 18621713 22 245 0.049
Czi: 4‘ ]m a1/2 G1/4 18622113 27 285 0.086
D | G3/8 186221 17 27 29 0.080
Tﬁ G3/4 G1/2 1862 27 21 32 395 0.144
G1 G3/4 1862 34 27 41 45 0.280
1864 #423 NPTSMELS/BSPPRIZLL
RBWIT6L c1 c2 £ E F L kg
NPT1/8 G1/8 18641110 75 14 215 0.015
L ‘ NPT1/4 G1/4 18641413 11 17 30 0.028
(— ) ! NPT3/8 G3/8 18641817 1156 22 31 0.043
1§ c2 NPT1/2 G1/2 18642221 15 27 395 0.080
1
cLOF /| E
1867 #3ES, BSPTHMEL/NPTRIZLL
R 16L ct c2 (A E F L kg
L R1/8 NPT1/8 18671011 8 14 21 0.015
‘——»‘ R1/4  NPT1/4 18671314 1156 17 285 0.028
_ -1 ! R3/8 NPT3/8 18671718 12 22 295 0044
T
[ c2 R1/2  NPT1/2 1867 2122 156 27 375 0.083
]
L
C1/OF / E l_

BAllegris 9-19

L5 B EE




IEWEEIESL

1863 KEEINES., BSPTHMEL/BSPPRHELL

FEEM316L C1 C2 E F L kg
R4 G1/8 18631310 14 16 0008
L ryg G1/8 18631710 17 165 0019
' GI/4 18631713 17 165 0011
o rijp _GU4 18632113 22 21 0036
G3/8 18632117 2 21 0023
T R34 GI/2 18632721 27 255 0,045
c1] for R G3/4 18633427 36 285 0083
1872 KEEINES, NPTINHLELL
RS 16L c1t c2 £ F L kg
L NPT1/4 NPT1/8 18721411 4 16 0010
>’—t< \prajg NPTI/E 18721811 19 165 0023
1 NPT1/4 18721814 19 165 0016
C2 NPT1/4 18722214 2 21 0
:l \PT12 /4 18 0.039
NPT3/8 18722218 2 21 0028
c1 fOF
1861 INEEKHESL . BSPTSMEL/BSPPRIZLL
RAFI16L c1 c2 & | E F L kg
rg _GU4 18611013 A7 24 0022
L G3/8 18611017 15 22 25 0038
‘ 1 . hijg _G3/8 18611317 15 22 285 0.042
== Gl/2 18611321 15 27 325 0068
I C2 R38 G1/2 18611721 15 27 33 0070
- RI/2 G3/4 18612127 165 32 38 0,003
C1/CF ,}LL R3/4 G 186127 34 19 41 435 0.182
1873 INERFESL, NPTSMAIELL
RAFI16L c1  ©2 & E F L kg
NPT1/4 18731114 % 17 2 024
L NPT1/8 ! 5 00
. - NPT3/8 18731118 14 22 25 0039
‘ \pry/a NPTY/B 18731418 14 22 285 0042
g o NPT1/2 18731422 175 27 31 0065
L ‘ NPT3/8 NPT1/2 18731822 175 27 315 0066
cL0F | E
1821 ERMFEEES, BSPTIMEL
FEHA316L C1 C2 E F L kg
RI/8 R/ 18211010 219 0009
cg RUB 18211310 14 235 0016
. R1/4 18211313 %4 27 0019
] hyg U4 18211713 17 275 0.024
R3S 18211717 17 28 0024
rijp B8 18212117 2 325 0042
R1/2 18212121 22 36 0.048
c1 @ I rayq RI2_ 18212721 27 41 0079
R3/4 18212727 27 42 0088
o _RY4 18213427 36 46 0.141
R1 182134 34 36 48 0.146

9-20 Blegris




N

1821 4ES, NPTHMELL
TEES16L C E F L kg
NPT1/8 18211111 1223 0.011
NPT1/4 18211414 14 32 0.023
NPT3/8 18211818 19 33 0.031
NPT1/2 182122 22 22 42 0.057
NPT3/4 1821 28 28 27 40 0.082
NPT1 1821 35 35 36 46 0.138
1823 BRE A ES, BSPTIMELL
FHW16L oD ©D1 C & F L L1 OT kg
L 7 9 R1/8 18230710 10 34 225 5 0.009
1 @D 9 R1/4 18230713 14 385 225 6 0.016
~‘ 10 12.2 R1/4 18231013 14 385 225 7 0.018
as Jua 12.2 R3/8 18231017 17 39 225 95 0.021
| |- 13 15 R3/8 18231317 17 46 295 11 0.025
16 18,5 R1/2 18231621 22 59 38 14 0.050
@D1 |@T
1823 BRE RESL, NPTIMEL
ReEHI16L @D @oD1 C & F L L1 OT kg
L 14 8.3 NPT1/8 1823 56 11 12 34 22553 0.010
L1 D 8.3 NPT1/4 182356 14 14 385 22553 0.016
M 18 1.7 NPT1/4 182360 14 14 385 22585 0.018
1.7 NPT3/8 1823 60 18 19 39 22585 0.026

]
AN
L o o

HAllegris 9-21

L5 B EE




_______IEEEN —— (I T

8] J5 4 B

0135 SERE, BSPPRIELL

w4 c & | H H K L N N1 kg
a1/a 01350613 30 13 25 70 37 17 0.329
01350913 30 13 25 87 54 17 0.409
6/ 013506 21 40 16 35 86 45 27 0714
013509 21 40 16 35 109 68 27 0.899
G3/4 01351027 45 21 40 122 78 32 1.232
%P RA S H B EmIgT

FTEUEATAE S, PR BRSNS i Qe

013506 13 1 G1/4 2 G1/8 G1/8 2 G1/8 G1/8
01350913 2 G1/4 G1/4 3 G1/8 G1/8 G1/8 3 G1/8 G1/8 G1/8
013506 21 1 G172 2 G1/4 G1/4 2 G1/8 G1/8
013509 21 2 G1/2 G1/2 3 G1/4 G1/4 G1/4 3 G1/8 G1/8 G1/8
013510 27 3 G1/2 G1/8 G1/2 3 G1/8 G1/8 G1/8 3 G1/4 G1/8 G1/4

9-22 Bllegris




tae & S E

3310 LS B

PRSI, TR @D C & HO#H® E H L L1 N kg
4 G1/4 33100413 10 33 114 104 115 0175

@D

8
L 5
>
hhnnn i o 6 G1/4 33100613 8 10 33 114104 125 0.169
R T 8 G3/8 331008 17 6 1233 114 104 15 0.156
i\ 77777777777 i 10 G172 33101021 6 14 48 130 1195 17 0.348
6

12 G1/2 33101221 14 45 117 107 205 0.370

3311 BB F S ELEE, BSPPHIANEHIREZLL

RS ci c2 P HOMEH HIH2 K L L1 N OT kg

G1/8 M5x0.8 3311191007 7 35 20 85 15 95 80 11 4.4 0.067

G1/8 3311101302 2 45 30 15 20 61 50 30 b 0.079

G1/8 3311101303 3 45 3 15 20 91 30 30 b 0.121

G1/4  G1/8 3311101304 4 45 30 15 20 121 60 30 5 0.165

G1/8 3311101305 5 45 30 15 20 151 90 30 5 0.209

G1/8 3311101306 6 45 30 15 20 181 120 30 5 0.244

G1/4 3311131702 2 55 30 11 20 74 61 36 65 0076

G1/4 3311131703 3 6 30 11 20 110 36 36 65 0121

G3/8 G1/4 3311131704 4 6 30 M 20 146 72 36 65 0144

G1/4 3311131705 5 6 30 11 20 182 108 36 65 0.212

G1/4 33111317 06 6 6 30 1 20 218 144 36 65 0.265

3312 +FRISELE, BSPPFIAHIMIELL
LSS c & H K L L1 N OT kg
K L ‘ M5x0.8 33120019 200 10 20 12 12 45 0010
a7 61/8 33120010 30 16 30 23 22 45 0029
3 = fo G1/4 33120013 40 20 40 30 27 55 0.066
a‘ L e N G3/8 33120017 50 25 50 38 39 65 0126
é} : G1/2 331200 21 50 25 50 38 39 65 0101
cf o |c

3313 WHEE, BSPPRIZLL
PEtRE LR C1 C2 E Ho#%=E H H1 H2 K L L1 N OT kg

G1/8 33131013 02 2x2 45 30 15 20 61 50 30 5 0.075
c1/a G1/8 3313101303 2x3 45 30 15 20 91 30 30 b 0.115
G1/8 3313101304 2x4 45 30 156 20 121 60 30 6 0.151
G1/8 3313101305 2x5 45 30 15 20 151 90 30 5 0.194
G1/4 3313131702 2x2 6 40 20 20 74 61 36 65 0109
38 G1/4 3313131703 2x3 40 20 20 110 36 36 65 0179

40 20 20 146 72 36 65 0238
40 20 20 182 108 36 65 0.286
40 20 28 116 36 36 65 0222
40 20 28 152 72 36 65 0295
40 20 28 188 108 36 65 0.369

G1/4 3313131704 2x4
G1/4 3313131705 2x5
G1/4 3313132103 2x3
G172 G1/4 3313132104 2x4
G1/4 3313132105 2x5

DD ||| D

Bllegris 9-23

L5 B EE




| T T

e &N H R

(T

——

3301 R 53 B
RS, THRR oD & WOMHE H HI H2 H3 L L1 N N1 kg
r“ = 4 3301 04 00 8 25 10 45 16 735 25 35 17 0105
g‘$ i 6 3301 06 00 4 25 10 45 16 735 25 35 17 0108
‘ %"‘ ) {‘) rﬂ:H [EFIM3X20 ST
= L -
- <
' D00 »
N1 N
3301 HELEE, BSPPRIZLL
BRAIE, THER c & HWOHE H H1 H2 H3 L L1 N Ni kg
‘<L.‘ G1/8 33010710 4 25 10 45 16 735 25 3 17 0097
® o _e w‘ I M3x204B4 T2
= ke =WiTd v
= = ,,,@ ﬁ H TRIEE R AR HENPTIRAL
i

3302 BAFEE, BSPPRIZL
PRAREILSE, NBR c & H L L1 kg
a1/a 33020113 25 245 25 0.030
3302011301 25 245 25 0.031
3302 01 13: fMAIRLL
33020113 01: F A4
ARIBZ K ATIR HNPTHREL
3302 BOEE, BSPPRMRELL

PHARERALSE, THEMRAR
N

7
I ki

© @)

H2

I
|
E——
[a)

c A

H Ht H2 L N kg

G3/8 33020217 25 125 245 51 26  0.061
MNIREL
TRYEZK A2 NP TIREL

3302 =49HELE, BSPPRHELL

PAtREILEE, TR

ey

oo e

L

=

H1

T
==

c A
G3/8 33020317 25

Side entry thread
NPT available on request

H Ht H2 L N kg
125 25 77 26 0.087

9-24 Bllegris




| T T —6—

e E oL

3303 R F 53 B EE B4R

RS & H Hl L kg

L 3303 00 01 95 356 26 0014
=~
\
"L

Hljzlfk H1

3303 HABER

PR & kg
1) 35 ‘ 3303 00 02 0.027
T J/m l®
—r— T3
73 !
19 35
155 iTi
RG]
T T T

Bllegris 9-25




B e

0205 MR, BSPTIMEY

=i (] E E1 rEﬁmEazx F G H kg
R1/8 020510 00 6 31 49 5 97 8 0003
R1/4 02051300 8§ 47 73 6 132 10 0007
) R3/8 0205 17 00 8 51 77 8 167 11 0013
g OF R1/2 0205 21 00 8 6410 10 21 13 0026
c v R3/4 0205 27 00 11 77 113 14 264 17 0054
— Er R1 0205 34 00 1381 127 17 332 19 0.094
E2| it R1% 0205 42 00 14 104 15 22 419 22 0176
| \ R1% 0205 49 00 14104 15 24 478 22 0.246
926G R2 0205 48 00 16 136 182 30 596 25 0431
1/2"E1%:" HIBSPTH#4:
FF&DIN 906
1247: EN 10226-1

0205 M ER, NPTIMEL

4 c @) E1 E2E2 F 6 H kg
NPT1/8 0205 11 00 6 32 5 5 102 8 0003
NPT1/4 0205 14 00 8 44 72 6 136 10 0008
(T) NPT3/8 0205 18 00 8 47 75 8 17 11 0014
g NPT1/2 0205 22 00 8 63 99 10 212 13 0026
NPT3/4 0205 28 00 1 68 104 14 266 17 0052
NPT1 0205 35 00 13 8 124 17 332 19 0.091
0209 FkiEie, ANIRBSPTIZY
#A c A Bt E2E2 g H U ke
R1/8 020910 00 6 31 49 97 16 6 0007
R1/4 020913 00 8 47 73132 18 8 0014
R3/8 020917 00 10 51 77 167 20 10 0025
R1/2 020921 00 T 6410 21 22 13 0047
E1 R3/4 020927 00 15 77 113 264 28 17  0.007
R1 0209 34 00 18 81 127 332 32 19 04170
926G H&DIN 906
4247. EN 10226-1

0220 SN FatERe, BSPPANAHISMELL

B, TREN c & F G H1 kg
o M5x0.8 02201900 8 8 5 0002
— G1/8 02201000 14 14 75 0011
H % G1/4 022013 00 17 17 75 0019
63/8 022017 00 17 22 85 0024
ms-1/8 G1/2 0220 21 00 22 27 10 0.040
OF
EAERABE
H @G M5: & B T R E R S
c % 5 THEME 7 = 20 bar

HREONHS, RARTFIIEES =250 bar, 7Rffl: 0220 19 00 99
HABNA229 (M5RISRSN) , BSPPiZ4r, 1SO ISO 228-1,
A#3247, 1SO NFE 03-054

1/4-1/2

0200 ShANFRER, BSPPHIAHISMELL

t ,ﬁ ] M10x1 0200 60 00
1
¢

7 7 5 45 0017

2] M12x1 0200 65 00
N_0G M12¢1.25 02006600
\_ ¢ G1/8 02001000

14 137 55 4 0.011

®A c & E F G H1 H2 kg
M6x1 0200 52 00 6 10 10 4 35 0004
- oF M&x1.25 02005700 7 13 13 4 35 0007
Ao B 8 14 14 5 45 0011
7 H 9 17 17 5 45 0018
9
7
8

G1/4 020013 00 5 17 167 55 4 0.019

9-26 Blegris




B

0201 N FtERe, BSPPHIAHISMELL

®A c & E F G Hi1 H2 kg
M16x1.5 0201 75 00 10 17 22 65 5 002

M18x1.5 0201 78 00 10 17 24 7 5  00%

M20x1.5 0201 80 00 10 17 26 75 5 0031

M22x1.5 0201 82 00 10 22 30 75 5 0044

oF M24x1.5 0201 83 00 10 22 32 75 5 0046

A M24x2 0201 92 00 10 22 32 755 0046
”1Fﬂ M30x2 0201 88 00 11 27 38 85 6 0075
Ei\@ G3/8 020117 00 10 17 217 6545 0024
¢ G1/2 0201 21 00 10 22 267 75 5  0.041

G3/4 0201 27 00 11 22 317 85 6  0.057

G1 0201 34 00 1127 397 85 6 0087

G1% 0201 42 00 1230 497 10 7 0142

0202 RN FREE, AHI5MEY

wiA c & E F G H H1 kg
M12x1 0202 65 00 9 6 17 1 8 0.009
M12x1.25 0202 66 00 9 6 17 M 8 0.009
OF M14x1.5 0202 71 00 10 6 19 13 10 0.015
,ﬁ M16x1.5 0202 75 00 10 8 22 13 10 0.020
— — ! M18x1.5 0202 78 00 10 10 24 13 10 0.022
H ( £ = H1 M20x1.5 0202 80 00 0 12 26 13 10 0.025
r v M22x1.5 0202 82 00 10 12 30 13 10 0.034
86 ! M27x2 0202 86 00 M 17 35 15 11 0.053
M30x2 0202 88 00 11 19 38 15 11 0.062

ZMHI4BSL, ISOFRENFE 03-054

BAllegris 9-27

L5 B EE




| T T —— m - mencjy

TR PR

0919 M fiERE, BSPPHIAFISMELL

FER c & E F G H kg
o 4 M5x0.8 09190019 4 25 8 75 0001
N G1/8 09190010 6 15 10  0.007
e G1/4 09190013 8 6 18 12 0013
@ E%EH 63/8 09190017 9 8 21 13 0021
= M5-172 G1/2 091900 21 10 10 25 145 0036
A —4 oF G3/4 0919 00 27 1130 - 17 0.050
Hg G1 0919 00 34 1338 - 19 0076

Ea—2

3/4-1"

9-28 Bllegris




RSN

0206 RARER, BSPTHMILL

E2 E2
sn c A E1 22 E2 F 6 H kg
R1/8 0206 10 00 6 31 49 5 97 8 0003
R1/4 0206 13 00 8 47 73 6 132 10 0.007
OF R3/8 0206 17 00 8 51 77 8 167 11 0012
,ﬁ R1/2 0206 21 00 8 6410 10 21 13 0023
C 4 R3/4 0206 27 00 1177 113 14 264 17 0048
Se——= E1
=== H R1 0206 34 00 13 81127 17 332 19 0086
—
E2 = 1 R1% 0206 42 00 14 104 15 22 419 22 0.166
| @G | R1% 0206 49 00 14 104 15 24 478 22 0222
1/2"E1%:" KIBSPTH#2::
F&DIN 906
1240, FAEN 10226-1

0206 RARER, NPTIMELL

@ c & E1 B2 E2 F G H kg
NPT1/16 0206 08 00 6 38 64 4 78 7 0.002
OF NPT1/8 0206 11 00 6 32 b5 5 102 8 0.003
NPT1/4 0206 14 00 8 44 72 6 136 10 0.007
C—» S===== T NPT3/8 0206 18 00 8 47 75 8 17 i 0.012
:"-—=§=: E1 H NPT1/2 0206 22 00 8 6.3 99 10 212 13 0.024
—
E2 S=——— S | NPT3/4 0206 28 00 11 6.8 104 14 266 17 0.047
L(ZJ—G—I NPT1 0206 35 00 13 8 124 17 332 19 0.083

0210 SN FatERe, BSPPAIAFISMELL

@ c & E F G H kg
M8x1.25 021057 00 8 14 12 15 0010
M10x1 021060 00 8 14 14 15 0013
M12x1.25 021066 00 1117 17 18 0.021
OF G1/8 02101000 8 14 14 15 0012
/7 4G M14x1.25 02107000 119 19 20 0.032
F%ﬁ G1/4 021013 00 12 19 18 21 0.031
H G3/8 02101700 12 22 22 21 0046
- ii G1/2 02102100 1427 26 24 0078
C / G3/4 021027 00 16 32 32 27 0134
G1 02103400 18 41 39 33 0269
G1% 02104200 20 50 49 35 0441
SERSMIBIE F5 & DIN 3852-1; SMED/E
BSPP#247: 1SO 228-1
AHIBE4: NFE 03-054

0216 SN AR, BSPTMELL

@ c & F H kg
R1/8 021610 00 13 16 0.012
OF R1/4 0216 13 00 17 19  0.023

,ﬁ R3/8 0216 17 00 19 21 0038

T R1/2 0216 21 00 22 23 0.060
H[ % c BSPTH24fF A EN 10226-1

0216 SN AERE, NPTHMEL
- c & F H kg

OF NPT1/8 021611 00 13 16 0.012

,ﬁ NPT1/4 021614 00 17 19 002

T NPT3/8 0216 18 00 19 21 0.038
Hl %C NPT1/2 0216 22 00 22 23 0.060

Bllegris 9-29

L5 B EE




NEENEE

0285 Mg, BSPTIMELL

FEEM316L (] E E1 nEﬁ!rrI\Eazx F G H kg
R1/8 028510 00 6 31 49 5 97 8 0003
R1/4 028513 00 8 47 73 6 132 10 0007
R3/8 028517 00 8 51 77 8 167 11 0013
=:_E__=_":::§ ; R1/2 0285 21 00 8 6410 10 21 13 0024
R3/4 028527 00 1177 113 14 264 17 0.051
R1 0285 34 00 1381 127 17 332 19 0.089
0285 AR, NPTIMEL
FEEM316L (] E E1 rE%nng F G H kg
NPT1/8 028511 00 6 32 5 5 102 8 0003
NPT1/4 0285 14 00 8 44 72 6 136 10 0007
NPT3/8 0285 18 00 8 47 75 8 17 11 0013
4 NPT1/2 028522 00 8 63 99 10 212 13 0025

9-30 Bllegris




0138 § Rt P

@ c & Gl G2 K kg
M6 0138 06 00 63 9 1 0033
M8 013808 00 8311 1 0.001
M12 01381200 123 16513 0072
M14 01381400 14318 15  0.001
M16 013816 00 163 20 15 0.001
M18 01381800 183 22 15 0001
M20 0138 20 00 203 24 15 0.001
M22 013822 00 223 27 15 0002
M24 013824 00 24329 2 0003
M26 0138 26 00 263 31 2 0003
c_| K M30 013830 00 30336 2 0004
e M36 0138 36 00 363 42 2 0.005
— M39 01383900 393 44 2 0.007
M45 0138 4500 453 52 2 0007
M52 013852 00 5360 2 0009
G1/8 01381000 103 135 1 0.001
‘¢G1 G1/4 013813 00 135 18 1.3 0.001
362 63/8 013817 00 173 21 15  0.001
G172 013821 00 213 26 15  0.002
63/4 013827 00 27332 2 0003
61 01383300 33539 2 0.005
G11/4 013842 00 2549 2 0007
G11/2 013848 00 483 55 2 0008
62 0138 60 00 60 68 25 0014

DIN 7603

I1ISO 65061

0137 BEMRETE

HTRRREH 0 c & G1 G2 K kg
M12 01371200 12719 15 0001
M14 01371400 147 21 15 0.001
M16 013716 00 167 23 15 0.002
M18 01371800 187 27 2 0.004
M20 0137 20 00 207 29 2 0004
M22 01372200 2731 2 0005
M24 01372400 247 33 2 0005
M30 0137 30 00 30739 2 0071
| K M39 013739 00 0 51 25 0012
Md5 0137 45 00 46 57 25 0014
0 G1/8 01371000 107 17 15 0001
G1/4 01371300 137 206 271 0002
63/8 013717 00 174 237 15 0.002
{ ‘ G172 01372100 215 286 25 0004
\@@\ G3/4 01372700 27 363 2 0007
61 01373300 337 42 2 0007
G11/4 0137 4200 43 54 25 0013
61172 0137 48 00 49 60 25 0015
62 0137 60 00 607 73 3 0027

e ATRINERREREES, LOKERBEIMILOTE, REEHE
ZERN%A0.3 mmE0S mm, LLEHMSNERK. FLOTHARESLEERMIZEBTI2 4

HAllegris 9-31

L5 B EE




~'

T

0605 FaELERE
BEA & kg
06051212 0.012
AL F-250°CE+260°CHYIR ESE R
hptise: AMEMGHSE. B AR, 2%, . W, B2
Tt Bk, G20
FFACFR21ERME
WLURTF AR
AT SREUEE S BRI A
REMWN: KE =12m; EE =12.7mm; FE =0.08 mm
0602  mawmm
B# c & Gl G2 K kg
M5x0.8 0602 29 93 15 52 7.8 15 0.001
‘ c ‘ G1/8 0602 23 10 20 103 14 2 0.001
G1/4 0602 23 11 20 137 175 2 0.001
@ G3/8 0602 231220 17221 2 0.001
G1/2 0602 2313 20 215 255 25  0.002
¢G1‘ H K G3/4 0602 27 32 20 27 32 25 0.001
gG2 | G1 0602 30 60 20 33839 3 0001
BRATIEES: 20 bar
0139 W RZE R E
T IR R c & G K Ki kg
p G1/8 01391000 14 1 17 0001
‘«C» i — G1/4 01391300 17 1 17 0001
; @ G3/8 01391700 22 12 21 0.001
‘ G1/2 01392100 26 16 25 0002
G3/4 013927 00 32 15 25 0003
U 26 H ki G1 01393400 396 17 26 0.003
P BATHEES: 250 bar
M5x0.8 G1/8 | G1/4  G3/8 G1/2 | G3/4 G
L, (R
Je 72 3 Bl0602M K S48 BMES. (00 008 03 05 ; 1o 19
#{iAdaN.m
ZEHE
mAHsE,
Bipdanm 016 | 08 1.2 3 35 6 9

9-32 Bllegris




JIIELE =S

0127 BREE R e EE

& op1 op2 4 L kg
2 0127 04 00 1N 0.001
4 2.7 01270427 N 0.001
3 0127 05 03 11 0.001
S 3.3 01270500 115 0.009
6 4 0127 06 00 115 0.001
3 55 01270855 14 0.001
6 0127 08 00 14 0.001
7 0127 1007 18 0.001
L D2 D1 10 75 01271075 18 0.001
‘——»‘ 8 01271000 8 0002
II— """""" 8 01271208 18 0.002
| 12 9 0127 1209 18 0.002
10 01271200 18 0.001
14 1 0127 1411 18 0.002
12 0127 1400 18 0.002
15 12 01271512 18 0.002
16 13 01271613 18 0.003
18 14 01271814 195 0.003
20 15 01272015 205 0.003
22 16 01272216 21 0.004
25 19 01272519 25 0.007

ESmREET, ERZNEEETHRRIFIERRREN

1827 HRLERASRINEEE

RAFI16L op1 op2 4 L kg
6 4 18270600 115 0.001
2D2 8 6 18270800 4 0001
‘ ’ 10 8 18271000 18 0.001
————— === 9 18271200 8 0.001

@D1 12

_— T 10 18271200 18 0.001
16 14 18271600 18 0.002

HIRKSFEPHALE ERBEENMERERN, LAEMRZMEEE

Allegris 9-33

L5 B EE




